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1. Two equal sums are deposited in bank at

simple interest rate of 15% per annum for

1
3
2

years and 5 years. If difference between

their interests is ` 144, then each sum is–

15% 

1
3
2

`

144 

(A) ` 460 (B) ` 500

(C) ` 640 (D) ` 720

2. A sum becomes ` 3264 from ` 2400 in 4 years

at a certain rate of simple interest. If rate of

interest is increased by 1%, what will be the

amount in same time?

4 ` 2400 `

3264 1%

(A) ` 3,288 (B) ` 3,312

(C) ` 3,340 (D) ` 3,360

3. A sum becomes ` 920 from ` 800 at rate of

simple interest in 3 years. If rate is increased

by 3%, then what will be the amount in same

time?

3 ` 800 ` 920

3%

(A) ` 992 (B) ` 962

(C) ` 942 (D) ` 982

4. A and B borrows ` 2000 and ` 3000 respec-

tively on same interest rate for 
1

2
2

years. If B

paid ` 125 more interest than A, find rate of

interest?

A B ` 2000 ` 3000

1
2
2

B A ` 125

(A) 7% (B) 8%

(C) 6% (D) 5%

5. X and Y has given equal money at rate of 7.5%

per annum for 4 years and 5 years respec-

tively. If difference between the interests is `
150 then what was the money given to each of

them?

X Y % 

`

150 

(A) ̀  500 (B) ̀  1,000

(C) ̀  2,000 (D) ̀  3,000

6. Ram deposited a certain sum of money in a

company at 12% per annum simple interest for

4 years and deposited equal amount in fixed

deposit in a bank for 5 years at 15% per annum

simple interest. If the difference in the interest

from two sources is ` 1350, then the sum

deposited in each case is:

12% 

15%

` 1350 

(A) ̀  5000 (B) ̀  4000

(C) ̀  3000 (D) ̀  6500

7. A sum is lent on certain simple interest rate

for 3 years. If it is lent at rate of 2.5% per an-

num more than previous rate, then interest

received would be ̀  540 more find the sum lent?

% 

` 

(A) ̀  6400 (B) ̀  6472

(C) ̀  6840 (D) ̀  7200

8. A sum is invested at certain simple interest

rate for 2 years. If it is invested at rate 1% more

then interest earned will be ` 24 more. Find

the sum invested?

1% `

(A) ` 1200 (B) ` 1050

(C) ` 1000 (D) ` 9600

Simple Interest [Part - IV]
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9. Devansh took a certain amount as a loan from

a bank at the rate of 8% p.a. simple interest

and gave the same amount to Bhuvi as a loan

at the rate of 12% p. a. If at the end of 12

years, he made a profit of ` 960 in the deal,

then the original loan amount was—

8% 

` 

(A) ` 3356 (B) ` 1000

(C) ` 2000 (D) ` 3000

10. Amit invested a  sum of ` 80,000 in 3 banks A,

B and C @ 15%, 16% and 27%. Amount in-

vested in bank A is 20% of the amount in-

vested in C. Find the amount invested in bank

B if he earns a interest of ` 36,400 as SI in two

years.

A, B C 15%, 16%, 27% 

` 80,000 A C 

20% B 

` 36,400 

(A) ` 20,000 (B) ` 50,000

(C) ` 10,000 (D) None / 

11. The difference of simple interest on a sum of

money for 8 years and 10 years is ` 200. If the

rate of interest is 10% p.a, then what is the

sum of money ?

`

200 10%

(CHSL - 2019)

(A) ` 1, 000 (B) ` 1, 400

(C) ` 1, 600 (D) ` 1, 200

12. A certain sum (in `) is invested at simple in-

terest at y% per annum for 3½ years. Had it

been invested at (y + 4)% per annum at simple

interst, it would have fetched ` 4,452 more as

interest. What is the sum ?

(` ) y% 

3½ (y + 4)%

` 4,452

(A) ` 42,400 (B) ` 31,800

(C) ` 30,400 (D) ` 42,800

13. A person invested a sum of ` 18600 at x% p.a.

and another sum that is twice the former at (x

+ 2)% p.a., both at simple interest. If the total

interest earned on both investments for 3½

years is ` 23110.50, then the rate of interest

p.a. on the second investment is:

` 18600  x% 

(x + 2)% 

3½ ` 23110.50 

     (CPO - 2019)

(A) 11% (B) 10.5% (C) 13% (D) 12.5%

14. A person invested a sum of `10,500 at x% per

annum at simple interest and a sum of ̀ 13,500

at (x + 2)% p.a. at simple interest. If the total

interest earned on both the investments for 3

years is `7,650, then the rate of interest on

the first investment is:

` 10,500 x% 

` 13,500 (x + 2)% 

` 7650 

(A) 8% (B) 8.5% (C) 9% (D) 9.5%

15. A certain sum (in Rs.) is invested at simple

interest at x% p.a. for 5 years. Had it been

invested at (x + 5)% p.a., the simple interest

would have been Rs.9,200 more than the ear-

lier one. What is the sum?

( ) x% 5

(x + 5)% 

Rs.9,200 

(A) Rs.36,800 (B) Rs.40,000

(C) Rs.36,400 (D) Rs.35,800

16. A sum of ` 800 becomes ` 956 at a certain

rate of simple interest in 3 years. If rate of in-

terest is increased by 4%, then what will be

the amount of a sum of ` 800 in 3 years?

800 3 956

4% 800

3

(A) ` 1020.80 (B) ` 1025

(C) ` 1052 (D) ` 1050
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17. If the rate increases by 2% the simple interest
received on a sum of money increases by `
108. If the time period is increased by 2 years,
the simple interest on the same sum increases
by ` 180. Find the sum?

2% 

` 108

` 180

(A) ` 540 (B) ` 415 (C) ` 404
(D) Data is not sufficient

18. If the annual rate of simple interest increases
from 11% to 17½% then a person's yearly in-
come increase by ` 1,071.20. The simple in-
terest (in ̀ ) on the same sum at 10% for 5 year
is:

11% 17½% 

` 1,071.20

5 10%

`   (CPO – 2020)

(A) ` 16,480 (B) ` 9,120
(C) ` 7,250 (D) ` 8,240

19. A person invested some amount at 15%
simple interest and some at 20% simple in-
terest. He received yearly interest of `250.50.
But if he had interchanged the amounts in-
vested he would have received `10 more as
interest. How much did he invest at 15%
simple interest?

15% 20%

 `250.50 

`10 

15% 

(A) ` 630 (B) ` 830
(C) ` 770 (D) ` 940

20. Ronni invested ̀  P in a scheme A offering simple
interest at 12% per annum for two years. He
invested the whole amount he received from
scheme A, in another scheme B offering simple
interest 15% per annum for two years. If the
difference between the interest earned from
scheme A and B was ` 264, what is the value
of P?

A ` P  12% 

A 

B 

15% A

 B  ` 264 P 

(A) ` 2640 (B) ` 2000
(C) ` 2250 (D) ` 1800

21. A banker lends ̀  4000 at simple interest to cus-

tomer. The rate of interest for the first year is

x%, for the second year is (x + 3)%, for the third

year (x + 6)% and so on. At the end of sixth year

customer pays ` 7480 to banker and clear his

debt. Find the value of x?

` 4000 

 x% , (x + 3)% 

(x + 6)% 

` 7480 

x 

(A) 8 (B) 7

(C) 6 (D) 11

22. The simple interest on a  certain sum of money

borrowed for four years at the rate of 9.5% p.a.

is ` 225 more than the simple interest on the

same sum of the money borrowed for three

years at the rate of 12.5% p.a.. Find the amount

borrowed.

9.5% 4 

12.5% 3 

` 225 

                        [CHSL 2020]

(A) ` 45000 (B) ` 35000

(C) ` 42000 (D) ` 48000

23.  A sum of ` 4000 at the rate of x% p.a. simple

interest becomes ` 5008 in three years. If the

rate of interest becomes (x + 2.6)% then find

the revised maturity amount.

x% ` 4000 `
5008 (x + 2.6)% 

                              [CHSL 2020]

(A) ` 5330 (B) ` 5420

(C) ` 5200 (D) ` 5320

24. Ratio of principal and amount at certain SI rate

for certain time is 4 : 5. After 3 years, ratio

becomes 5 : 7 at same interest rate. What is

rate of interest?

(A) 4% (B) 6%

(C) 5% (D) 7%
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25. A certain rate in interest for certain time a cer-
tain sum gives the ratio of principal amount
and amount 4 : 7 respectively. For same sum
it same of interest in 3 year now ratio become
5 : 11. Find out the rate of interest.

(A) 16 (B) 17

(C) 14 (D) 15

26. If the ratio of principal and amount in current

year at simple interest is 6 : 13 ahd after 18.5

more years this ratio will beocme 5 : 17. Fin

dht rate of simple interest?

6 : 13 18.5

5 : 17

(A) 
1

5
5

(B) 
2

7
4

(C) 
2

6
3

(D) None of these



Mother's Arithmetic • Simple Interest

55MATHS (SSC, CDS, Railway) "MATHS With PAWAN RAO" 

Solution
1. (C) Difference in time () =

1 1 3
5 3 1

2 2 2
   years

So,  Principal (P) =
. . 100S I

R T

 


=
144 100

640
3

15
2




  
 

2. (D) If rate increased by 1% in 1 yr
then 4% increase in 4 yrs.
Extra interest due to extra rate

=
2400 4

100


= ` 96

Then, amount becomes = 3264 + 96 = ̀  3,360

3. (A) Time = 3 years; Interest = 120

Rate =
120 100

3 800




= 5%

Now, rate is increased by 3%
So, new rate = 5 + 3 = 8%

So, Amount = 800 + 
800 8 3

100

 
 =  ` 992

4. (D) Accordingly to question–

3000 R 5

2 100

 


– 

2000 R 5

200

 
= 125


50

2
R = 125

 R = 5%

5. (C) sum of each =
R t

Difference of interest ×100

=
150

100
7.5 1




 = ` 2,000

6.  (A) Let sum deposited = P


P 15 5 P 12 4

100 100

= 1350


P

100
× (75 – 48) =1350

 P =  
1350 100

27
= `5000

7. (D) Principal (P)=
Difference in S.I. 100

Diff. in Rate( R) Time

=
540 100

2.5 3




= ` 7200

8. (A) Principal (P) =
Difference in S.I. 100

Diff. in Rate( R) Time

=
24 100

1200
1 2






9. (C) ATQ,

P 12 12 P 8 12

100 100
= 960

 144P – 96P = 960 × 100

 48P = 960 × 100

 P = 2000

10. (A) Let amount invested in banks A, B and C be as
below
A = x, C = 5x and B = 80,000 – 6x
ATQ,

80000 6x 16 2x 15 2

100 100

+ 
5x 27 2

100
 = 36,400

On Solving we have x = 10,000
 C = 50,000
A = 10,000
& B = 20,000

11. (A) Principal = 
200 100

10 2
 =  ` 1000

12. (B) ATQ,

P × 
7

2
× 

4

100

y y
= 4452

7 4

200

P  
=4452

 P = ̀  31800

13. (D) ATQ,

As,
1

3
2

=
7

2
 years

18600 x 7

2 100
+ 

2 18600 x 2 7

2 100

= 23110.50
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After solving for x
x = 10.5%

 Interest rate on second investment
= x + 2 = 12.5%

14. (D) 10500 × x% × 3 + 13500 × (x + 2)% × 3 = 7650
10500 × x × 3 + 13500 (x + 2) × 3 = 765000
210x + 270x + 540 = 5100

x = 9.5%

15. (A) Let sum = ` P

ATQ,

P x 5 5 P x 5

100 100
 = 9200

P ×  
5

100
 [x + 5 – x] = 9200

P = ` 36,800

16. (C) T = 3 years

P = 800

A = 956

R =
SI 100

P T




 = 

156 100

800 3





=
13

%
2

If rate increases by 4%

Now rate =
3

2
+ 4 = 

21
%

2

Amount = 800 + 800 × 
21

2
× 

3

100
 = ̀ 1052

17. (D) Let the sum be ` P, rate be R% p.a. and

time be T years

Then, 
P T R 2 P T R

100 100
 = 108 .....

(1)

And

P R T 2 P R T

100 100
 = 180 .... (2)

Clearly, from (1) and (2), we cannot find the

value of P.

So, the data is not sufficient

18. (D) 11%  
1

17 %
2

Change 
1

6 %
2

 = 
13

2
  1071.20

 1  164.80

 100  16480

So, S.I. = 
16480 5 10

100

= ` 8240

19.(B) I II

15%    20%  `250.5

–5% +`10

20%    15%  `260.5

–5% +`30

35%    0  `290.5

35%      290.5

100%     
290.5

35
 × 100 = ` 830

20.(B) Case I

S.I.= 
Pr incipal Time Rate

100

= 
P 2 12

100
 = `

24P

100

       C.I. =
24P

P
100

 = `
124P

100

Case II

S.I. = 
124P 15 2

100 100
 = `

372P

1000

ATQ,

372P

1000
 – 

124P

100
 = 264

372P – 240P

1000
 = 264

132P = 264 × 1000

P = 
264 1000

132
 = `2000

21.(B) x%, (x + 3)%, (x + 6)%, (x + 9)%, (x + 12)%, (x +

15)%

Total interest (6x + 45)% = 87%

6x = 42%

4000 : 7480

  100 : 187
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 x = 7

22.(A) SI
1
% = 9.5 × 4 = 38%

           SI
2
% = 12.5 × 3 = 37.5%

Difference = .50 = 225

P = 
225

50
 × 100 × 100

= 450 × 100 = 450000

23.(D) Extra money = 
4000 2.6 3

100

= 40 × 7.8

= 312

Revised maturity amount = 5008 + 312

= 5320

24. (C) Principal : Amount  = 4 : 5

= 4 × 5 : 5 × 5

= 20 : 25

After 3 years Principal : Amount = 5 : 7

5 × 4 : 7 × 4

20 : 28

Increase in 3 years = 28 – 25 = 3

% Interest =
Interest 100

Principal time

=
3 100

5%
20 3






25. (D) P : A
1

= 4 : 7

After 3 years  P : A
2

= 5 : 11

P : A
1
 : A

2
= 20 : 35 : 44

3 years Interest = 9

1 year interest = 3

Rate =
3

100
20

 = 15%

26. (C) 6 : 13

5 : 17

Principal should be same

6 : 13 (×5)

5 : 17 (×6)

30 : 65

30 : 102

18.5 × year

18.5 = 37

1 year SI = 
37

18.5
 = 2

1 year SI = 
2

30
 × 100 = 

20

3
 = 

2
6

3
%


